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| Ogirsedl Asxg 223 60,000
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OEBASSTARHIZ BB 24,840
= 24,840
202 04t 9,800 9,000 800
= 9,800
01 2LHoIH 9,800 9,000 800
ON=BHSEARH2IZH 9,800
= 9,800
AR gyl X3 10,000 10,022 N2
= 10,000
201 Zet=3hl 9,600 9,522 78
= 9,600
01 At2tltl 9,600 9,522 78
OofATY YPET(EHLALSES) 8,400
= 8,400
OoEBR| YRFW S| 1,200
= 1,200
202 04Hl 400 500 A100
2 400
01 =LHOHI 400 500 A100
O0A2e| gf=d 400
= 400
wIJ|e &= 2,913,104 4,011,704 1,008,600
= 335,250
[ 2,577,854
HOIM SEA 2,913,104 4,011,704 1,098,600
& 336,250
T 2,577,8%4
NI E A 162,500 104,600 57,900
201 Zet2d] 4,000 4,000 0
01 AlR2telHl 4,000 4,000 0
O HRFA 1,000
OTHE LREH S4H) 3,000
308 AtAIEMSOIE 168,500 100,600 57,900
08 WEJ|20UStEx 68,500 100,600 A32,100
OdMZXYME 228 29 20,000
Os D0 2 5,000
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301 EtE NS 1,000 1,000 0
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e 500
o gstsdsti=s 1,000 1,000 0
Oti=td stxt= tHE0IXH X 1,000
< 500
T 500
LSS =2 671,700 546,400 125,300
306 £= 671,700 546,400 125,300
01 2d= 671,700 546,400 125,300
osglstg sHAS 221 238,200
osgellsy 24 433,500
JASEISY 2 (2X) 871,500 950,000 78,500
< 261,450
Ea 610,050
306 EG= 871,500 950,000 AT78,500
= 261,450
2 610,050
EEE] 871,500 950,000 AT8,500
OZgoIsY 2 (N OSUT SaA
&) 871,500
= 261,450
o 610,050
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o 55,500
gdus JSAE XIE 25,000 65,000 /40,000
< 10,000
= 15,000
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chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 2,448,000 2,314,000 134,000
Oodnaoi=s 2,448,000
02 JIEtME = 152,000 146,000 6,000
Odundnz(¥323d) 152,000
SHIAHIN o= 13,222,298 12,118,660 1,103,638
M HASFESS 13,084,658 11,982,580 1,102,078
01 d=2F8= 11,378,920 10,326,946 1,061,974
Og=s=gs 49,310,614,0003 *9% 4,437,9%
ORH3 49,310,614, 00021 10.595% 5,224,460
Oslzi4gy 2o3
49,310,614 ,0002%3.272% 1,613,444
OMat2s 23
49,310,614,000& *0.20%% 103,060
02 =0H2EE= 1,705,738 1,655,634 50,104
OR0AYBHI
42,600,000,000 *3.545% 1,510,170
OWRLEES
3,020,340,000& 6.475% 195,568
307 @120l & 137,640 136,080 1,560
07 d=lls=s 137,640 136,080 1,560
OSRE & SREINE ANYERIS
3,588,000& x30H 107,640
O3 MHi=E=
10,000, 000& »3H 30,000
SFA UE=2Y 1,764,968 1,603,761 161,207
04 HSRESS 1,764,968 1,603,761 161,207
04 SR (RIH )22 BEE=RES S 1,764,968 1,603,761 161,207
O=UABEEHS
11,460,000,0002 %3. 545% 406,257
OIIILES= 812,514,000%6.475% 52,611
O=td= F5=
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OunE28s f8=
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Ot 28 = FS=
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201 er2 3| 31,806 30,132 1,674
01 AtR2telHl 31,806 30,132 1,674
Os A&t 25,445
OZ4Hl S0 & 6,361
202 o4 34,560 34,560
01 =LHO LI 34,560 34,560
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